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Exercice 1

Cocher les bonnes réponses :
150 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 0] par 10
355 est divisible : L] par 2 Ul par 3 Ll par 5 L] par 9 U] par 10
118 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 (] par 10
370 est divisible : L] par 2 U par 3 Ll par 5 L] par 9 U] par 10
171 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 (] par 10

Exercice 2

Cocher les bonnes réponses :
405 est divisible : L] par 2 Ul par 3 Ll par 5 L] par 9 U] par 10
85 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 0] par 10
24 est divisible : L] par 2 U] par 3 Ll par 5 L] par 9 U par 10
195 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 0] par 10
840 est divisible : L] par 2 Ul par 3 Ll par 5 L] par 9 U par 10

Exercice 3

Cocher les bonnes réponses :
38 est divisible : L] par 2 Ul par 3 Ll par 5 L] par 9 U par 10
365 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 0] par 10
648 est divisible : L] par 2 U] par 3 Ll par 5 L] par 9 U] par 10
470 est divisible : L] par 2 Ul par 3 Ll par 5 L] par 9 U] par 10
75 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 (] par 10

Exercice 4

Cocher les bonnes réponses :
990 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 0] par 10
415 est divisible : L] par 2 U] par 3 Ll par 5 L] par 9 U] par 10
153 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 (] par 10
166 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 (] par 10
264 est divisible : L] par 2 U par 3 Ll par 5 L] par 9 U] par 10

Exercice 5

Cocher les bonnes réponses :
276 est divisible : L] par 2 Ul par 3 Ll par 5 L] par 9 U] par 10
480 est divisible : (] par 2 (] par 3 [l par 5 (] par 9 (] par 10
432 est divisible : L] par 2 Ul par 3 L par 5 L] par 9 U] par 10
184 est divisible : L] par 2 U par 3 Ll par 5 L] par 9 U] par 10
160 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 (] par 10

Exercice 6

Cocher les bonnes réponses :
102 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 0] par 10
828 est divisible : L] par 2 Ul par 3 Ll par 5 L] par 9 U] par 10
235 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 (] par 10
94 est divisible : (] par 2 (] par 3 [l par 5 (] par 9 (] par 10
370 est divisible : L] par 2 Ul par 3 Ll par 5 L] par 9 U] par 10
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